
1. Vypočítejte: 

a) 
4

3
:
8

15
− 5 ∙ (

2

5
− 2 +

3

4
) 

b) 
2

3
+
1

2

1−
5

6

 

c) 
√8∙2∙ √82

3

42∙8∙ √16
3 ∙ 24 

d) (1 − 23 + 4−1 − 2−3): 2−2 

 

2. Zjednodušte a stanovte podmínky: 

a) 
2𝑎−1

2𝑎
−

2𝑎

2𝑎−1
−

1

2𝑎−4𝑎2
 

b) 
𝑎𝑥+𝑎𝑦

𝑥2−2𝑥𝑦+𝑦2
:
𝑎𝑥2+2𝑎𝑥𝑦+𝑎𝑦2

2𝑥+2𝑦
 

c) (
2𝑎

𝑎+2
+

6𝑎

6−3𝑎
+

8𝑎

𝑎2−4
) :

𝑎−4

𝑎−2
 

d) (
1

𝑎+1
−

2𝑎

𝑎2−1
) ∙ (

1

𝑎
− 1) 

e) 1 +
1

2+
1

3−
1
𝑥

 

 

3. Zjednodušte a stanovte podmínky 

a) 
√(√𝑎∙ √𝑎5

3
)

3

𝑎√𝑎3

4

 

b) √(𝑥 ∙ √𝑥
3

)
5
: (√𝑥

5
)
3

 

c) 
𝑦∙ √𝑦3

4

(√𝑦∙ √𝑦
3 )

2 :
𝑦2

√𝑦
3 ∙√𝑦3

 

d) √(
√𝑎√𝑎
3

√(√𝑎)
53
)

5

 

 

  



Výsledky: 

1.  

a) 
27

4
 

b) 7 

c) √2
6

 

d) −
55

2
 

 

2.  

a) −
1

𝑎
; 𝑎 ≠ 0, 𝑎 ≠

1

2
 

b) 
2

(𝑥−𝑦)2
; 𝑎 ≠ 0, 𝑥 ≠ ±𝑦 

c) 0; 𝑎 ≠ ±2, 𝑎 ≠ 4 

d) 
1

𝑎
; 𝑎 ≠ 0, 𝑎 ≠ ±1 

e) 
10𝑥−3

7𝑥−2
; 𝑥 ≠ 0, 𝑥 ≠

1

3
, 𝑥 ≠

2

7
 

3.  

a) √𝑎3
8

, 𝑎 > 0 

b) 𝑥3 ∙ √𝑥
30

, 𝑥 > 0 

c) 
1

√𝑦
12 , 𝑦 > 0 

d) 
1

√𝑎5
6 , 𝑎 > 0 


